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1.

2.

. (3) Decibel

A 7/ GENERAL KNOWLEDGE

As per census 201 1, literacy rate in India is
(1) 65.55% (2) 77.25%
(3) 6932% (4) 74.04%

How much allocation given for ‘Mukhya
Mantri Samagra Sampada Vikas Yojuna’
under the Budget - 2021-22 of Uttar Pradesh 7
(1) 2,000 crores (2) 5,000 crores

{3) 500 crores (4) 1,000 crores

Find the agent/agents of soil erosion among the
following.

A. Running water

B. Ground water

e,
(1)
(2)
(3)
(4)

Sea waves
Aand C
A,Band C
None of these
Only A

Biodiversity is
A Genetic variations
B.

C.

All biclogical species present on carth
Variations among biological
communitics

D,
(1
(2)
(3)
(4)

Variations in ecosysiems
Both B and C

A Band C

All of these

Only B

Intensity of Noise Pollution is measured in
(1) Decimeter (2) Deciliter

(4) Centimeter

In which year Akbar ended the Jiziya Tax for
the first time ?

(1) 1565
(3) 1567

(2)
(4)

1566
1564
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11.

12,

13,

Who was elected us the President of Indian
Nutional Congress in [938 7

(1) 1. B. Kriplani

(2) Pattabhi Sitaramaiya

(3) Subhash Chandra Bose

(4) Abul Kalam Azad

In which of the following years Surendra
Nath Banerfee was removed from Civil
Service 7

{1y 1867 {2y 1874
(1) 1878 {43 1870

Briahmi script was deciphered by
(1) Alexander Cunningham
(2) James Princep

(3} Charles Masson

(4) 5. R Rao

Arrange the following dynasties in the
chronological order by using the codes given
below.
I. Shung dynasty
[I. Haryank dynasty
ITI. Nand dynasty
V. Maurya dynasty
Codes :
{1y 1 I 1 v
(2) 1IN | 1 v
(3) .1 m v I

(4 n | I v

Which Indian State has the largest area under

forest 7

(1) Chhattisgarh (2) Madhya Prodesh

(3) Muharnshira (4) Arunochal Predesh

Which of the following river does not form the
delin ?

(1) Kaveri (2) Mahanadi

(3 Narmada (4) Krishna

When Cabinet Mission came in India 7
(1) January 1946 (2) March 1946
(3) March 1945 {(4) February 1945
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(1) A smem = (3) NITI Aayog
{4) whema w (4) Lok Sabha

wrn wETR gﬁmﬁ Fmb 15. How many subjects are there tn | 1™ Schedile
= ZI1% FH of the Indian Constitution ?

(1) 25 L (2) 19

i I8 9
(H 20 {4y 27

{3} 20 4 27
1. P16 L:7

1 FolipeiL:?
1m0 2y 1723 (1) 1600 2y 1783
o (3 1728 {4y 1700 (1) 1728 (4) 1700

17, walss v d R GANGA %1 711471 3 5 17.  Inthe coding lunguage, if GANGA is described
ﬁmm.a"r ARJU =1 wikn F Em 7 by 711471, then the code of SARJU is

(1) 174u7R ' m 011810142 () 174117 (2) 911810112
1} umn 91181021 (3) 198111021 (4) 19118102
i ———
;J-/ v s § et ofven o) s B, fRt o Tt | 180 A man walks 8 km towards West, then walks
/ mﬂﬂnmhmnnﬁmﬁama 6 km towards North. How far he is from the
starting point ?
= m: @) uﬂs:n. (1) 10km (2) 14 km
798 * @ 12feh (3) 20km 4) 12km
b znnluﬁm e
.}' “:‘#‘?ﬂ {"mmﬁl’l!}t What will be the angle between two needles
{(hour and minute) at 2 hour 30 minutes ?
(1) 105° 2y 170
(3) 95° 4) 120¢
e Find analogy.
. Prayagra) : Ganga : : Ayodhya: 7
| i) M (1) Yamuna (2) Swyu
(1) Saraswatl (4) Gomati

20, v @ gl B o (o oA
o v 1 A.) e 2l. When was Goods and Service Tas (GST)
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Which of the following was mot the main leature
of the Gavernment of Tndia Act, 1919 7

(1) Relaxation of Central contral over the
provinces

The Indian Legislature wus made more
reprenentitive

Drysrchy ot the centre

Dyarchy in the provinces

(2}

(1)
(4]

Whao ereated the Brhadeshwar Temple of
Tanjore 7

(17 Rajendra Pratham

(2) Rajedhira) Protham

(3} Aditya Pratham

(4) Raujra) Pratham

Al Innovation Mission™ s related with
(1) Entreprencurship Development

(2) Information Technology

{(3) Space Technology

(4} Rueal Development

The sail which transport along with water is

called
1] Coalluvial (2) Peat
(3 Muck (4) Alluvial

equénceof speciés related (o each other as prey
nd predator is termed as

1) Niche (2) Eutrophication
1) Animalcycle  (4) Food chain

Animals living at the bottom of the sea are

called
(1) Lotie (2) Benthic
(3) Pelagic (4) Lentic

The power of a power house is 200 Megawatt.
The electrical energy produced by this power
house per doy will be

(1) 4800 Megawatt hour
(2) 4800 Megawatt

(3) 4800 Joule

(4) 200 Megawntt hour
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30.

il

32,

33

35,

National Science Day is celebrated on
(1) 28" February (2) 28" March
(3) 28" April . (4) 28" January

Which one of the following is mol correctly
matched 7

(1) Malose - Malt
(2) Acetic acid -~ Curd
(3) Formic acid - Milk
(4) Ascorbic acid —~ Lemon

'Sarthak’ launched by the Ministry of Defense
Govarnment of India in August 2020 is related
10 which of the following ?

(1) Rocket launcher

(2) Offshore patrol ship

(3) Light combat aircraft

(4) Smart bomb

Which one of the following became first 100%
organic Union Territory of India ?

(1) Puducherry y

(2) Andaman and Nicobar Islands

(3) None of these

{4) Lakshadweep

Arrange the following events in chronological
order and select the correct answer from the
codes given below.

1. Appointment of Simon Commission
I Jallianwala Bagh Massacre
[Il. Mahatma Gandhi's Dandi March
IV. Death of Ferozshah Mehta
Codes :
(1) LILIV, I (2)
(3) IV, LI 1 (4)

1L, 1L IV, 1
I"i‘l III 11 In

Who among the following leaders founded the
revolutionary organization — *Abhinav Bharat
Society' 7

(1) Vinayak Damoedar Savarkar

(2) Barindra Kumar Ghosh

(3) Putin Bihari |

(4) Bhagat Singh
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Which of the following disease is caused by
virus 7

(1) Filaria
(3) Levkaemia

(2) Rabies
{4} Typhoid

ECG is a graphical representation of the
electrical sctivity of which organ 7

(1) Kidney
(3 Liver

(2) Lungs
(%) Heart

£ C and '{C; |H and H; %Cl and 1CI
ure examples of
(1) lsotopes

(3} Isomers

(2) Isobars
(4) Isotones

Which of the fallowing acid it mainly present
in tomato 7

(1) Acetic acid

(2) Citric acid and Malic acid

{3) . Tartaric acid

(¥ Lacticaod

In which year 21* United Nation Climate
Change Summit was held in Paris 7

(1) 2015 (23 2016

(3) 2017 (4) 2014

The target of the mission ‘Jal-Jeevan® ~

‘A tap in eyery home® started by Indian Central
Government has been firstly achieved by which
State 7

(1) Sikkim (2) Gujarat

(3) Madhya Pradesh (4) Goa

“Thai Poosam’™, a religious festival celebrated
in which Indian State 7
(1) Odisha

(3) Kamataks

(2) Tamil Nadu
(4] Andhra Pradesh

Which State launched *Kisan Kalyan Mission® to
promote the income of farmers 7

(1) Bihar (2) Gujarat

(3) Jharkhand {4) Uttar Pradesh

[ET.O.
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47.

Booker Award for the year 20120 has been given

for which book 7

(1) The Republic Ethic

(2) My Years with Rajiv : Triumph and
Tragedy

(3) Voices of Dissent

(4) Shuggie-Bain

Recently on which river the Shahtoot dam
will be built with the consent of India and

Afghanistan 7

(1) Maidan river

(2) Kunar river

(3) Peckriver

(4) Arghandab river

What was the percentage of India’s
population to the World Population in 2011 1

(1) 180 (2) 175
(3) 165 4 17.0

The Kumaun Himalaya is situated between
rivers

(1) Indus and Satlyj

(2) Satluj and Kali

(3) Tista and Brahmaputra

{4) Kali and Tista

Green Revolution is related with

(1) Production of milk

(2) Production of cotton

(3) Production of meat

(4) Production of cereal crop

Which Coast of India frequently affected by
cyclone 7

(1) Kerala

(3) West Bengal

(2) Odisha
(4) Gujarat

Which of the following is largest rail zone of
Inchin ?

(1) Northern Railway Zone

(2) Central Railway Zone

{3) North-Central Railway Zone
(4) North-Eastern Railway Zone
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W -2/ PART -2
syl [ ENGLISH

Correct the following sentence :
“The whole India knows me.’

(1) Whole of country knows me.
(2) The India knows me.

(3) My India knows me.

(41 ‘The whole of India knows mE.

Chaose the correct prefix to ‘adventure’.
(11 mal- (2) dis-
(3) pre- (4) mis-

Turn the following simple senience into o
complex one -

‘I knew @ man. He believed in Giod.'

(17 1knew aman of belief.

(23 Tkpew o man who believed in God.

(3) 1 knew.a man with godly instingts.

(4) 1knew a man which believed in God.

Give the synenym of the verb ‘desant’.
(1) own (2) Jeave
(3) support (4) possess

Supply the correct preposition in the blank

____ == yesterday.'
(@)_for
_ {4}\%. e

=1 N I
Which of ml:'.!qlluﬂngim!ﬁ!' t!!Hsmgak
present tense T S S
(1) 1 used to go for aswim everyday.

(23 Twoand three make five.

{3) Basmati rice has a sweet flavour.

(4) Hydrogen is the lightest element.

‘] have eaten nothing
(1} since
(3) to ’

Which of the following is not a verh 7
(1} regard (2} reject
(1) purpose (4) convey

Which of the following is nof a noun 7
(1) project (2} enulion
(3) catchy (4) wisdom

Paper— I/D
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59.

The subjecl that G. B. Shaw tackled In
Mrs. Warren s Profession Was

(1) love'strue nature

(2) prostitution

(3) fawsin education

(4) justice

The French Revolution continued to resurfoce
in Iater literary works such as

(1} Silas Marner

(2) Vanity Fair

(3) A Tale of Two Citiex

(4) Tess of the D' Ubervilles

Supply the correct articles in the blanks :

__lionis — —— strong beast.”
(1) The, the (2) The,a
(3) An,n (4) A, the
Use the suitable article in the following
senlence ;
‘Copper is yseful metal.’
(1) an (2) the
(3) none of these (4) a

Fill in the blank with the correct option :

“She returned 1o the house where she it
(1) had been staying with friends

(2) had been stayed with friends

{3) had been stay with friends

(4) had be staying with friends

Complete the sentence by filling the blank :
1 saw him first
(1) alile

(3) the few

__ after midnight.”
(2] the little
(4) nfew

Fill in the blank with the correct oplion in the
sentence ; |
: : had actually seen Jones fire the
gun.

(1) None of the witness

(2} Mot of the wilnesses

(3) Nothing of the witness

{4) None of the witnesses




L

Read the following passage carefully and answer the
questions (66 = 69) that follow

In the modern world, many new problems have arisen
awing to the invention of the steam engine and the
petrol engine, inventions which have made it possible
o travel at very high speeds. Speed of transport has
become the grestest feature of the modern industcial
world. Rapid ransport saves o much valuable time,
that designens and mechanics everywhere are doing
their utmost lo increase the speeds of motor-cars, ships
and aeroplanes.

66.

What has given birth o many new problems in

the modermn waorld 7

(1) Theinvention of trains

(2} ‘The invention of sicam boats

(3) Theinvention of the steam engine and the
petrol engine

{4) The invention of ships

Whut has become the greatest feature of the
modern industrial world 7

(1) Speed of computer handling

{2) Speed of transport -

(3 Speed of walking

(4) Speed of typing

Whit does the rapid transport suve 7
(1) It saves energy .
(3} I saves oo

(1) Designers and mechanics

(2} Technoerals and mechanics
(3) Shapers and designers

(4} Civil engineers and scientists

In the eourse of centurics, English has built up

&n unusual capaeity for

(1) Remnining unchanpesble

(2) Delinking itself entirely from Old
English '

(3) Making Greek its chief influence

(4) Assimilating outside elements

Paper — 1/
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T4,

The tribes that gave to England “*Ofd English'"
were

{1} Arabic intruders

{2) Sponish senlers

(3] Chinese travellers

{4) Germanic invaders

LU'se the comect rellexive pronoun in the blank :
“They hun

(1) themselves
{2} hersell

i3] none of these
{4) himself

in the playground.

How many kinds of Noun are used in English
Ciramimar ?
(1} Three
£3) Five

(2} Four
4] Two

How many Sections/Purts are there in
E M. Forster’s A Passage to India 7
(1} Three {2) Four

(3) Five (4) Two

Who wrote the lines 7

Bliss was it in that dawn to be alive,
But to be young was very heaven !
(1) Wordsworth

{2) Keuts

(3) Shelley

{4)_Coleridge

Coleridpe’s " Rime of the Anclent Mariner™
was included in

(1) “Lyrical Ballads"

(2) "The Morming Chronicle”

(3) "Gentleman's Magazine”

(4) “The Prelude™

Which of the following Pope's major poems was
the only ane of the series that was completed 7
{1} “The Rape of the Lock"

(2) “An Essay on Criticism™

(3) *The Dunciad"

{4) “An Essay on Man"

[PT.O.
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The Restoration is said 1o begin with the arvival
of a particular monarch to the throne of England.
Who was that monarch ?

(1) James | {2) Charles ]

(3) Charles 1l (4) Henry VI

In which literary work do we come fcross a
palace fire in Lilliput 1

(1} Moll Flanders

(2) Banle of the Books

(3} Gulliver's Travels

(41 Robinson Crisoe

Insert the correct article in the sentence below |
“There's a woman from the bank on

phane.’
(1) the (2) a
{3) none of these (4) an

Which sentence s most likely to follow the
sentence 7

"Don't walt for me.

(1) 1 may have been o few minutes late.

{2) 1 might been a few minutes late.

(3} 1might be a few minutes late.

(4) Tmight have been a few minutes ate.

Fill in the blank with the correct option :
“Are you likely :

again this su i
(1) for
(3) 1o ) ol
Which of th ing SENEn

(1) Banks lends money 10 make a profit.
(2) Bank lend money to make a profit.
(3) Bank lended money to make a profit.
(4) Banks lend money to make a profiL

Which of the following sentences is correct 7

(1) The police ure talking to a number of
people.

(2) The police won't tlking to o number of

le.

(3) The police talking to a number of peaple.

{4) The police is wlking to a8 number of
people.

- D
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85,

87,

91.

The first original dramatic work by & woman is

(1) The Tragedy of Mariam
(2) The Faerie Queene
(3) The Unfortunale Traveller

(4) The Comedy of Errors

Shakespeare's friend und patron was

(1) Ruf:n Devereux, Earl of Essex

(2) Mary Sidney

(3) [Isanc Oliver

(4) Henry Wriothesly,
Southampton

the Earl of

Which of the following is the only work of a
sustained use of alliterative poetry try Chaucer ?
(1) The Franklin's Tale

(2) Sir Thopas

(3) Troilus and Criseyde

(4) Parson’s Tale

English has an unusually large vocabulary
because

(1) its sentence structures are |

{2) it has been exposed to many languages
(3) it has no inflections

{4) itis an excessively wordy language

The language of the Celts in Gaul who were
conguered by Coesar is known as

(1) Gallic (2) Cornish

(3) Manx (4) Germanic

The character of Sir John Falstaff appears in
(1) A Mid-Summer Night's Dream

(2) Orhello

(3) Henry IV, Part ]

(4) Hamlet

The following lines are an extract from which
poem 7

**Fade far away, dissolve, and

quite forget
What thou among the leaves last never known,
The weariness, the fever, and the fret'
(1) *‘Ode 10 a Nightingale™*
(2} *“'Ode o Autumn**
(3) **Ode to Psyche'*
{4) **Ode on a Grecian Urn'*



A

92, Shelley's ‘Adonais’ is a threnody mourning the
death of

(1) John Kents

{2) Robert Burns

(3) William Wordsworth

(4) Harriet Shelley

93, Who is the hero in Hardy's The Mayor of
Casterbridge ?

{1} Henchard

(2} Joshua

(3) Solomon Longways

(&) Farfroe

Thomas Hardy was a novelist of
(1) Neo-classical Age

(2) Romantic Age

(3) Victorian Age

(4) Elizabethan Age

Fill in the blank with suitable preposition :
“The river flows the bridge.’
(1) over (2) under

(3} upon (4) across

Supply the correct alternative in the blank !
1 English for five years.'

(1) am stwdying
(2) will study

(3) have been study
(4) study

Supply the correct alternative In the blank :

‘1 a lot of work toduy.'
{1) had done (2) have done
(3) didn'tdo (4) did

Convert the following sentence Into nctive
volce |

‘A ticket will be given to you by the
manager,'

(1) The munager will give you u ticket,

(2) The manager will have to give you o
ticket.

(3) The manager should give you a ticket,
(4) The manager will give a ticket,

Paper - 1/D

99, Change the following sentence into passive
voice

“The pean opened the gate.”

(1) The gate is opened by the peon.

(2) The gate was opened by the peon

(3) The gate has been opened by the peon
(4) The gate was opened hy someane.

100. When was The Waste Land published 7
(1) 1922 (2) 1925
(3) 1930 (4) 1920

101. Who among the following is called

(2) Robert Owen
(4) A. E. Housman

**3 belated romantic
(1) Thomas Hardy
(3) W.B. Yeuals

Read the poem and answer the questions (102 - 105)
that follow :

The world is too much with us; late and soon,
Getting and spending, we lay waste our powers.
Little we see in Nature that is ours

We have given our hearts away, a sordid boon !
The sea that bares her bosom (o the moon |

The winds that will be howling at all hours ;
And are up-gathered now like sleeping flowers ;
For this, for everything, we are out of tune

“UAccording to the poem, we are out of tune
ith

(2) Materinlistie world

(3) Our Ideologles

(4) Our Custom

103,

Where are we laying waste our powers 7
(1) Inenjoying our life with our emotions
(2) In pursuit of the materlalistic world
(3) In warching the beauty of nature

(4) Inhaving harmony with nature

104. In the poem, the poet desires that we should

(1) Enjoy this world of nature and her beauty
(2) Dislike nature

(3) Love the materialistic world
(4) Enjoy this world of getting and spending

(P.T.O.



105. According to the poet, what is a sordid hoon' ?

(13 Our hears |

(2) Our pleasures in getting and spending

(3) Our modern approach to the world that 1s
too much with us

(4) Our mind

106.  What part of speech is the word “‘and’* in the
following sentence 7

‘Harrison marched him to the door, threw him

out and returned.’
(1) Pronoun (2) Adverb
(3) Conjunction (4) Noun

107. ‘The word ‘new’ in the phrase **a new idea”" is
(1) an adjective (2) nnoun
(3) aconjunction  (4) averb

108. Which of the following is mef in reported

speech ?

{1} He never told me Sir, Watson
complained.

(2) |suggested that it was time 1o leave.

(3) '‘How's it all going 7" Derek asked,

(4) He answered that the price would be three
pounds.

(1
see him. W0 ‘
1 don’t know much about music,”
said,

He promised to give me the money.

He mentioned that he had a brother living
in London.

(2) .I!.Id}'
(3
4

110.  Which of the following is mot in the past tense 7

(1) She won the Pulitzer Prize in 1988,
(2) Onee this town was a beauty spot,
(3) We visited New Delhi lust week,
(4) Honesty is the best policy,

111. Eliot dedicated The Waste Land 1o

(1) John Donne (2) Ezm Pound

(3) John Milton (4) James Joyee

Paper - 1/D

112, Matthew Arnold’'s

113

114.

115.

116.

17.

118,

119.

<§ohrab and Rustam'’ is

taken from a story of

(1) Akbar Namah

(2) Shah Namah

(3) Rubaiyat of Omar Khayyam

(4) Arabian Nights

i the well known poem ** To His Loy Mistress™’,
the word 'Coy’ means
(1) timid

(3) sensuous

(2) voluptuous
(4) shy

How many pilgrims are there in The Prologue to
the Canterbury Tales including the poet himself ?
(1) Twenty-nine (2) Thirty

(3) Thirty-seven {4) Twenty-eight

The Book of the Duchess was written by
Chaucer in 1369 to bring solace to

(1) Edward [l (2) Edward III
(3) John Gower (4) John of Gaunt

Who called Shakespeare an ‘upstart crow’ in
his book titled A Groats-Worth of Wit ?

(1) Charles Lamb  (2) Dryden

(3) Robert Greene  (4) John Lyly

Which kind of comedy was Ben Jonson
associdted with ?

(1) Comedy of Manners

(2) Farce

(3) Satire

(4) Comedy of Humours

Lycidas (1637) is an elegy on the death of
(1) Charles Dickens

(2) Edward King

(3} Sir John Mandeville

(4) Milton

Which of the following poems Dryden wrote to
welcome the return of Charles [1 7

(1) "Asiraea Redux®’

(2) “*Annus Mirabilis™*

(3) "'The Hind and the Panther**

(4) **Absalom and Achitophel*"



120.  Areopagitica (1644), a noble and impassioned | 128. The first twenty-four lines of ‘Paradise Lost” is

plea for the liberty of the press is a book by called
(1) Keats (2) S.T. Coleridge (1) Invocation (2) Convocation
(3) L A Richards (4) Milton (3) Allocation (4) Avocation
121.  Wessex novels are associated with 129, Which of the following sentences is correct ?
(1) George Eliot (2) Thomas Hardy (1) The Sun rise in the East and sets in WesL
(3) Jane Austen (4} Charles Dickens (2) Sun rises in the East and sets in the West.
{3) The Sun rises in the East and sets in the
122,  ‘Rosie’ is &t character in the novel West,
(1) Kanthapura {4) Sun rises in the East and sets in West,
(2) Swami and Friends
(3) The Guide 130, Which of the following sentences has an
(4) Untouchable adjective claise 2
(1) He met a girl who had blue eyes.
123. *"The four wheels of English novel” comprises (2). Hemet a girl whose eyes were blue.

(3) He met a girl and found her eyes blue

Samuel Richardson, Henry Fielding, Tobias (4 Ha et N 66k with Blua eves

Smollent and

(1) Daniel Defoe 131. The Shepheardes Calender is a senies of
(2) Robern Louis Stevenson eclogues, one for each month of the
(3) Charles Dickens year.
(4) Laurence Sterne (1) seven (2) ten
(3) twelve (4) six
124. The term ‘Picaresque’ in literature means
(1) Novelist 132. What is Spenser’s eighty-gight Petrarchan
(2) Pickup Sonnet series Ef‘“"d 7
(3) Picturesque (L) Epilhnlnfnmn
(4) Adventure of a per (2) Amoretti

(3) Mother Hubbard's Tale

125. The poetic form # (4) The Faerie Queene

‘ Who wrote the two long narrative poems
1) Matthew Arnold ng. narea
:2; AL ";':nn;nﬂ?n titled ““Venus and Adonis'* and *‘The Rape of
| Lucrece'" 7
5; g:.cﬁndﬁ:ﬁ?;,m (1) Wordsworth (2) T.S5.Eliot
' (3) W.H.Auden (4) Shakespeare

126. Who among the following dramatists was a

writer of ‘Problem Plays’ ? 134. Everyman is the title of a

(1) Miracle play {2) Mystery play

(1) John Lyly (3) Problem play {4) Morality play
(2) Christopher Marlowe
(3) George Bernard Shaw 135.  Euphues was written by John Lyly in 1579,
(4) William Shakespeare What was the subtitle of Euphues 7
(1) Prodromi
127. An ‘elegy’ is a poem of (2) The Anatomy of Wit
(1) Adventures (2) Rejoicing (3) The Masque of Beauty
(3) Mourning (4) Celebration (4) Novum Organum
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136, "'Letus o then, you and 1,
When the evening Is spread out ngainst the sky
Like n patient eiherized upon @ tble.."

The above lines are an eacerpl from

(1), "Pied Beauty™

(2) ““The Love-song of 1. Alfred Prufrock’’
(1) *‘Prospice”

(4) "'The Darkling Thrush'*

Aldous Huxley borrowed the title Brave New
Waorld for one of his novels from

(1) Antony and Cleoputra

(1) Much Ado About Nothing

(3) Twelfth Night

(4) The Tempest

137,

138.  Who among the following is credited with the
publication of The English Dictionary ?

{1y Dr. Samuel Jonson

(2) Caxton

(31 Thomas More

{4) Ben Jonson

139. “Conceit’ is generally considered to be the
trait of '

{1} War poets

(2) Metaphysical pocts

(3) Espressionist poels

140,

{1) Caroline Age
(2) Jacobian Age
(3} Restoration Age .
(4) FElizabethan Age

141, Choose the masculine gender )
given below : = R Fi Opticot
i) Signora {2} Czarina
(3) Crar (4) Peahen
142 The antonym of “Tedious® is
(1) Easy (2) Comfortable
(3) Cool (4) Serious
Paper - /D
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144,

145.

146.

147.

149,

150.

guate what is the underlined word in the given

o i
“This Is the boy whase maother has died.
(1) Adverb clause

(2) Adjective clause
(3) Conjunction clause

(4) Noun clause

Give one word for the group of words :

‘Nations engaged in war, .‘
(1) Bane (2) Frenzy
(1) Belligerents (4) Blasphemy

Choose the correct option from the following -
“Though he is poar, but he is honest.”

(1) He is honest but poor.

(2) Though he is poor, yet he is honest.

{3) He is poor and honest.

(4) He is poar, yet he is honest.

Paradise Lost is written in
(1) Heroic Couplet

{2) Terzarima

{3) Blank verse

{4) lambic Pentameter

Noviem Organum (1620) was written by
(1) George Peele {2) Edmund Spencer
(3) Chaucer (4) Francis Bacon

mwuﬂ -H.A“ E?miMWﬂk“ .Id hww
Sketches'' are composed by

(1) Keats (2) Teanyson

(3) W.B.Yeats  (4) Wordsworth

Which of the following poems of Colendge is
an unfinished fragment ?

(1} *'France : An Ode™

(2) ""Remorss™

{3) "'Kubla Khan'

(4) **Frost at Midnight"*

The Witch of Atlas was written by
(1) Shelley (2) Pope
(3 Sidney {(4) Shakespeare
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52.

In which case the Supreme Court of India has
envisaged that *‘Preamble is the key to mind of
the Constitution makers™™ 7

(1) Sajjan Singh vs Rajasthan case

(2) Golaknath vs Punjab case

(3 Keshvanand Bharti vs Kerala case

(4) In Berubari case

By which Constitutional Amendment Act, it has
been added in Fundamental duties that “who
is a parent or guardian to provide opportunities
for education to his child or, as the case may be,
ward between the age of 6 and 14 years™ 7
(1) 84" Constitutional Amendment

(2) 85" Constitutional Amendment

(3) 86" Constitutional Amendment

(4) 82 Constitutional Amendment

The Flag Code of India is effective from
(1) 26 January, 2002
(2) 26 January, 2003
(3) 15 August, 2002
(4) 26 January, 2001

The song **Jana-gana-mana’* was adopted in its
Hindi version by the Constituent Assembly us the
National Anthem of India on which date ?

(1) 26 January, 1950

(2) 15 August, 1947

(3) 26 November, 1949

(4) 24 January, 1950

Who is the Chairman of Inter-State Council in
India ?

(1) Vice President

(2) Prime Minister

(3) Union Home Minister

(4) President

|BTO.
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%6, i & gy o ) (1) Finance Ministry
(1y fiw s ) Reserve pank of India
@ fond s ot e (3) ﬁenlﬂl Sinmﬂcul Organization
R mmm ) ﬂlﬂhil‘llcammi“mn
S s g7, The Pcfumage of small and marginal farmen |
&1 miqwmmmw! ‘o indis
(1 ThE (2) 8% (1) 8% (2) B2%
(3) 85% (4) 75%
(}) 85% 4y 13%
s ‘Ol wnd i 58, What is stagflation ?.
(1) o i Fd f s yredif (1) A situatian in which econonmy faces influtio
Mkmummwﬁ! , and high rate of unemployment
() T teh Foef Fred i et FWHET | (2) A situation in which economy faces slow
wrh § down
(3 v A Wil 7 ' (3) Nane of these
(&) o i feafh vl it A © (4) A situation in which econormy faces
wh B ' recession
o “qﬂm'ﬁiﬁmg 59, ‘Twin Deficit’ related 1o
(1) TrEER W« TASE W (1) Revenue Deficit + Fiscal Deficit
) AT « sl T (2) Revenue Deficit + Effective Revenue
(3) W W e + TR Deficit
{3) Current Account Deficit + Fiscal Defict
(4) Fiscal Deficit + Primary Deficit

In Economics, ‘Laissez Faire’ means

(1) Life should be made as fair as possible
(2) The State do not interfere in the econom}
(3) People should play fuir game

(4) The State to interfere in the economy

o), s d @ - uw S s e i

Y 61 Which one of the following is nof relaed ™
() it e (2 fom World Trade Organization ?
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Y U
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Ll )} Banking Sector Reforms
) h “."*‘I"" ) Agricultural Sector Reforms
(4) W ey g (3) Industrial Sector Ref
Paper - 1M % ) mm':!mm

- A




63,  snitis wiwo s fem smm

65,

QLI (Fsfawe wenferdt s ams ) B
sy et 8 & Pk g vl g oft 7
(1) sl ¥

(2) WEHA-IE-T

(3) umn fery

(@) it @, i

15ﬁﬁ'ﬂmﬁﬁﬂﬂmihmmmh
st 3 et wal = s feem o & o
SPER Rt b i R

(1) 40% (2) 41%

(3) 43% (4) 39%

Frerfirfiae geal @ 8 frm - S0
Sy Feram wiea fen o 7

(1) v i gres
(2) fewtraTE g
() Frrmed

(4) eIt fash

(4) =28, wmE

ﬁnwﬂuﬁiﬁﬁmﬁﬁaﬁ'aﬂw
mﬁm'ﬁnﬁmwﬁﬁhmﬁ#ﬂm
Frers fn @ 7

al

ﬁsa

Economic survey is published by

(1) Planning Commission

{2) National Sample Survey Organization
(1) Indian Statistical Institute

(4) Ministry of Finance

The concept of ‘PQLI’ (Physical Quality of Life
Index) was developed by

(1} Amartya Sen

(2) Mahbub-ul-Hag

(3) Adam Smith

(4) Morris D. Morris

As per 15" Finance Commission
recommendations, the Central Government

has agreed to %i\rn hiow much of tax divisible
pool 1o states

(1) 40% (2) 41%

(3 43% (4) 39%

Who amang the following established the
department of ‘Diwan-i-Amir Kohi® 7

{1} Muhammad bin Tughlag

(2) Firoz Shah Tughlag

(3) Sikandar Lodi

(4) Alauddin Khilji

In which rock-edict Ashoka has mentioned
*Atavi Jatis" 7
(1) Xl

(3) X

(2) Xi
4 Vv

. Name of the revolutionary wh hurled bomb on

Lord Hardings was

{1) Ras Bihari Bose

(2) Bhagat Singh

(3) Chandra Shekhar Azad
{4) V.D. Savarkar

Who among the following Govemor Generals
ridiculed Congress as representing only 2
‘Microscopic Minority" of people ?

(1) Lord Curzon

(2) Lord Minto

(3) Lord Lansdown

(4) Lord Dufferin

BT
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71.

in insi:n'ptiuns gives the
t two Ashwumcdhu Y ajnas
he King Pushynmitnl Shung ?

Whﬂﬁi;h,s - of histories Of the Palas of Bengal ?
v
(1) Ramachantd

Who among the following had discovered the
Harappan site sutkagendor ?

(1 1M Casal

(2) Aurel Stein

(3) N.G. Majumdar

(4) M.R. Mughal

The archacological site Khairadih is situated
on the bank of which of the following rivers
(1) Gangn River

(2) Son River

(3) Punanpunu River

(4) Saryu River

In which of the following regnal years Kharvel

had taken out water from & canal from Tanasul
to his cupital ?

(1) Fifih Regnal year
(3) Eleventh Regnal Yon
(4) Pourth Regnal year

All

l“‘:::l:;lﬂlu Inscriptions also containd the
ruler ? whom of the following Mught
(1) Shahjahan

(2) J.h.nlh'

(3) Auran
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76, 'Which of the following is mat responsible for
air pollution ?
(1) Thermal power house
(2) Burning material

{(3) Onl refinery
(4) Wind turbine
77.  Which soil is suitable for cotton cultivation 7
(1) Hlack sl {2) Laterite sonl
(3 Alluvial soil (4) Red soil

TR,  Which one of the following is correctly
maiched 7
(1} Karmataks — Tuticorin
{2) Tamil Nadu - Mangalore
(3) Gujarat = Kandla
{4) Maharashtra - Paradweep

9. Which one of the following ore is abundant in
the Balaghat - Bhandara — Nagpur region 7
(1) Manganese (2) Mica
(3) Bauxite (4) lIron

80, Whichoneof the following occupation does nof
belong to the primary sector of the economy 7
(1) Mining (2) Fishing
(3) Transport (4) Agriculture

81. The burst of monsoon in West Bengal called
(1) _Blossam Shower

(2) Nor Westers
(3) Cyelone
| (4) Bardoli Chiheerha

82, In which State Mangrove forests are found In
large scale ?
(1) Gujarat
(2) Andhra Pradesh
(3) Tamil Nadu

(4) West Bengal

83, In which State |s the Bihu dance popular ?
(1) Arunachal Pradesh
(2) Blhar
(3) Punjab
(4) Assam

[ETO
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wWhich of the following {s mot a marginal sea of

Atlantic Ocean |

(1) Black sea

(2) Culfl of Mexico
(3 (Caribbean sci
(4) Hudson Bay

Which of the following is a planetary

winds ?

(1) Equutorial Westerlies
(2) Polar Winds

(3) All of these

(4) Trade Winds

Which State Government of India had first
issued o high alert in the State due to
‘Nipah Virus® 7

(1) Tamil Nadu

(2) Karnataka

(3) Kerula

(4) Andhra Pradesh

Untouchability is abolished and its practice
is punishable according to which Article of
Constitution of India ?
(1) Aricle |7
(3) Article 18

(2) Aricle 16
(4) Article IS

Which among the following is mof a valid
ground to restrict freedom of speech under
Article 19(2) ?

(1) Friendly relations with foreign countries
(2) Public Order

(3} Public Health

(4) Security of the State

Which among the following provisions of

Indian Constitution is mot adopted from British
Constitution 7

(1) The idea of residuary power
(2) Rule of Law

(3) Institution of the Speaker
%) Parliamentary form of Government
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90.

o1.

92,

04,

Find the correct match.
State Members in
Rajyn Sabhu
(1) Punjab - (7
(2) West Bengal - 18
(3) Kerala - 20
(4) Uttur Pradesh - 40
The member of UPSC can be removed from the

office before the expiry of term by the

(1) Chairman of UPSC

(2) Primeé Minister on récommendation of
supreme Court

President on recommendation of Supreme
Court

Prime Minister

(3)
(4)

Consider the following Vice Presidents and
arrange their appointment in chronological
order :
. R. Venkut Raman
1. K.R. Narayanan
[l B.D. Jaui
IV. Krishan Kant
Select correct answer from the codes given
below :
(1) IV, I, I, 1
(2) Hi 1L IV
(3) I, 1, 0L 1V
(4) I, I, IL 1V

Which of the following Presidents of India was
never Vice-President of India 7

(1) Neelam Sanjeeva Reddy

(2) V. Venkatgiri

(3) B.D. Jati

(4) Dr. S. Radhakrishnan

Dadra and Nagar Haveli comes un.:ltr the
jurisdiction of which High Court in India ?

(1) Gujarat High Court

(2) Bombay High Count

(3) Guwahati High Court

(4) Odisha High Court

[RT.O
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102.

95. Whichufﬂmﬁ.rﬁchdmlswithdtganuinaid

the Union Government 1o the States 7
(1) Article 270 (2) .&ru:ci: 280
(3) Article 265 (4) Arlicle 275

Who presides over the joint sitting of both the
Houses of Parliament ?

(1) Vice-President

(2) Prime Minister

(3) Speaker of Lok Sabha

{4) President

Under which one of the following Articles of
Indian Constitution, provision of creation or
abolition of Legislative Councils in States are
made 7

(1) Article 170
(3) Article 168

(2) Article 169
(4) Article 171

The number of members in United Nations as
on 01-03-2021 was
(1) 196

(3) 195

(2) 191
{4) 197

When did India conduct ils first nuclear test 7
(1) 1975 (2) 1976
(3) 1977 (4) 1974

Name of the 17* Lok Sabha Speaker is
(1) Om Birla (2) Rajnath Singh
(3) Amit Shah {4) Sumitra Mahajan

Broad Money is

(1) M1 + savings deposits with the post office
saving bank

M2 + time deposits with the banks

M2 + savings deposits with the post office
suving banks

M3 =M1 + time deposits with the bank

(@)
(3)

(4)
Population explosion occurs due to

(1) Low Birth Rate

(2) High Birth Rate as well as Low Death
Rate

High Death Rate
High Birth Rate

(3)
4)
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31

Development Index (HDI) 7
(1) Life expectancy

(2) Birth rate

(3) Per capita income
(4) Education

What is the rank of India in the Human
Development [ndex 2019 7

(1) 130 (2) 13)

3 132 4y 129

Net National Product (NNP) at factor enst is
(1) More than national income

(2) Less than national income

(3) Always more than GNP

(4) Equal to national income

Consider the names of the following Mughal
emperors of the eighteenth century,
i. Alamgir =11
ii. Ahmad Shah
tii. Jahandar Shah
iv. Muhammad Shah

Which among the following sequences represents

the correct chronological order 7
(1) i ii i v
€2) i iy DA
(3)dii v i i
(4) i i itk i

Which of the following isfare correctly matched 7
i. Battle of Khanwa — Between Babur and

Ibrahim Lodi

ii. Buttle of Panipat — Between Babur and
Rana Sanga

iii. Battle of Chanderi - Between Babur and
Rajputs

iv. Battle of Ghaghra ~ Between Babur and
Afghans

Codes ¢

(1) Onlyiandili  (2) Ouly iii and iv

(3) Only i, il and iv (4) Only i and ii

[ ETO.
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108,

{n which assembly Harsha gave away all his

helongings in charity 7

(1) Assembly of Prayag

(2) Assembly of Thaneshwar
(3) None of these

(4) Assembly of Kannalj

Who was the founder of *Gurjar-Pratihar’
dynasty 7

(1) Chandradey

(2) Govind Chandra

(3) Vasudev

(4) Nagabhatt first

Who wrote *‘Prabandh Kosh" 7
(1) Bithana (2) Kathana
(3) Rajshekhar (4) Merutung

Thumri Singer Girija Devi belongs to
{1) Lucknow Gharana

{2) Banaras Gharana

(3) Agra Gharana

(4) Kirana Gharana

Tn which Veda *“The Assembly and Commitiee™
called the two daughters of Prajapati 7

(1) Samveda

{2) Yajurveda

{(3) Atharvaveda

(4) Rigveda

From which Archaeological site of Neolithic
Period, evidences of “Cattle-pen’ was found ?
{1) Chopnimondo (2) Panchoh

(3) Mahgara (4) Kaldihwa

The pamphlet ‘circular-i-azadi’ is related ©
(1) Taraknath

(2) G.D. Kumar

(3) Ramnath Puri

(4) Lala Hardayal

The *Second Buddhist Council’
daioe kericima st tasinall | Sowkaed

(1) Ajatasatru @) Kani
- hk
(3) Kalushok (@) M:El -
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116, Arrange the victories of Alsuddin Khilji in the

117.

chronological order.
n. Ranthambore
b. Gujarat

¢. Chinor

d. Telangana

Codes ;

(1) ¢,nbd
(2) acbd
(3) b, ncd
(4) a; b, e, d

Match List-1 with List-1I and select the cornect

answer from the codes given below.
List-1 List-11

0. Srautasutrn . Measunng of fire-aliers

b. Grihyasutra i, Rules relating to
sacrifices
Domestic nghis
Dharma or Law

. Dharma sutra .
d. Sulvasutra v
Codes :

n b [ d
1y i i it v
) it iv i
(3) iv i ii fii
(4) i i v i

Match List-1 with List-IT and chooss your
answer from the codes given below.

List-1 List-11
a, Indica i. Banabhatta
b. Harshacharita it. Chandbardai
¢. Prithviraj Raso iii. Megasthanese
d. Rajtarangini iv. Kalhana
Codes :

a b ¢ d
(1) i i T
(2) i v Wi
(3 i i v i
@ v di il

FT.O
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Four puddhist Councils were held in the
following places. Arrange them in chronological
order by using codes given below

1. vaishali

1L Rajgriha

118 Kundalavana

v. Pataliputrd
Codes :

(n o v o1
(2) 1M I v 1
@ 1 v 1
4) 1 m w 1

The tripartite Strug gle for the control of northern
[ndia is took place between which of the
following empires 7

4. Rashtrakutas

b. Pratihars

c. Palas

Select the correct code.

Codes :

(1) Onlyaandc
(2) Onlybandc

(3) a,bandc

(4) Onlyaandb

In the Rig Vedic Period *Nishka' was the
ornament of which organ ?

(1) Throat (2) Arms

(3) Wrist (4) Ear

Consider the correct statement In the context of
Maesolithle nge.

Statement 11 The life of the people in Mesolithic
age was based on the method of "Hunting und
Collecting'.

Statement 2 + Microlith ware used In this
period.

Salect the correct code,
Codes ;

(1) Only 1
(2) Only2
(3) Both statements are wrong
(4) Both statements are correct
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123.

124.

125.

126.

127.

128.

What was Aurangzeb's position at the time of
his father Shahjahan ?

(1) Governor of Deccan

(2) Governor of Bengal

(3) Clovernor of Kashmir

(4) Governor of Punjab

In the statements given below regarding
"Therigatha'. Mark the correct stalement.
Statement 1 : A collection of 73 songs
containing 522 poems.

Statement 2 : They were composed by
spiritually developed nuns.

{1) Only 2 is correct

(2) Both 1 and 2 are correct

(3) Both statements are false

(4) Only 1 is correct

Who among the following Sultans of Delhi
founded Jaunpur city 7

(1) Muhammad bin Tughlag

(2) Firoz Tughlag

(3) Alauddin Khilji

(4) Balban

How does it take for the Earth to rotate around
the sgn 7

(1) 365% (2) 366

(3) 365% (4) 365

The Prime Meridian passes through which <ity ?
(1) Pans (2) London

(3) Washington (4) New York

The symbol used to represent various !:vhysuta]
and cultural features on the topographical
map is called
(1) Conventional symbol
(2) Physical symbol
(3) Cultural symbol
{(4) Feature symbol
[PT.O.
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42

Which are the following causes rainfall
during winter in north-western part of India 7
(1) Retreating monioan

() Western disturhances

(N South-West monsoon

(#) Cyclonic depression

puper produced in Nepa Nagar is used for which
purpose 7

(n Paper clirmency

(2) Packaging paper

(3) Notebook paper

(4) Newspaper

which one of the following is not an Alpine
Mountain built during the tertiary period ?

(1) Atlas of Africa

(2) Andese of South America

(3) Aravalli of Asia

(4) Rockies of North America

Which Indian State/UTs having comman

boundary with Pakistan 7

(1) Jammu and Kashmir, Haryana, Rajasthan,
Punjub

(2) Gujarat. Jammu and Kashmir, Punjab,
Rajasthan

(3) Jammu and Kashmir. Himachal Pradesh.
Punjub, Rajasthan

Gujarat, Himachal Pradesh, Haryana,

Jammu and Kashmir

(4)

Which one of the following is not an example
of Metamorphic rock 7

{1) Quartrile

(2) Slate

(3) Granite

(4) Marble

The direction of winds in Doldrum belts are
(1) 5. E. Mongoon wind

(2) 5. W. Monsoon wind

(3 N, E Trade wind

(4) Equatorial westerlies wind
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142,

Heavy downpore rainfall occurs from which

clonds 7

(1) Cumulo-nimbus clods
{2} Stratus clouds

(1) Nimbo-straius chouds
(4) Cumulus elowds

Tibert Bill Confroversy pccurred during the
relgn of

{1} Lytion {2} Rippon

(Y Muayo i4) Curzon

Wiho among the following Satavahana rulers is
calted as ‘Ekabahman® in Nasika inscription 7
(1) Simuka

(7} Shmkarni|

(31 Vashishthiputra Pulumavl

(4) Cautamiputra Satakarni

in which of the following inscriptions victory of
Skandagupta over the Huns is mentioned 7

(1} Bhitari Inseription

(2} Tumain Inseription

(3) Kahaum nscription

(4) Junagarh Inscription

Whil:hmg‘lh: following was the Capital of
one of the provinces of Ashoka ?
(1) Tosali (2) Suvarnagiri

(3) Paithana (4) Ujjayini

Which among the following Brahmana texts
deseribes about coronation 7

(1) Kaushitaki Brahmana

(2) ‘Sitapatha Brahmany

(3) Panchavinsha Brahmana

(4) Aitereya Brahmana

Rossby waves is related 1o which stage of
development of Jet Stream ?

(1) Second stage (2} Third stage

(3), Fourth stage (4) Firststage

The highest peak in the castern ghats is
(1) Khasi (2) Anaimudi
(3) Mahendragii  (4) Kanchenjunga

{PTO.
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l:rynumiu: concept of Mansoon wis proposed by

1) Flohn (2) Koteswiram
{3) [Frost {4) Hally

Which of the following region is most prone to
earthquakes 7

(1) Ganga-Brahmaputra Plain

(2) Western Cihat

(3) Eastern Ghat

(4) Deccan Plateau

Who postulated the *Planetesimal Hypothesis'
related 1o origin of the eanth 9

(1) Kant (2} Chamberlin
(3) James Jeans (4) Laplace

How many members are in Public Account
Committee ?

(1) 22 (2) 13

(3 1 (4) 30

Who said that **Democracy is the Government
in which every person is participate equally™ 7
(1) Seley (2) Lord Bryce

{3) Diecy (4}  Mazini

Which of the following word is nof vested in
Indian Constitution 7
(1) Federal

(3) Socialism

{(2) Democratic
{_4] Secular

The President of India is impeached under which
Article of the Constitution 7

(1) Article 56 and Article 61

(2) Article 75

(3) Aricle79

(4) Article 76

Zero hjuur parliamentary arrangement is given
by which country ?

(1) Britain

(2) India
(3] Jﬂ.pnn

(4) America
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51.

52.

53.

Which property of the virus suggest that it s
abiotic 7

(1) Because |t can reproduce

{2) Because crystalization of virus is

possible
Pecause it can causeé disease

Because it has genetic material

(3
(4)

Nostoc presence in farm Jand can contribute in
(1} Carbondioxide cycle

(2) Nitrogen cycle

(3) Water cycle

(4) Phosphorus cycle

Which one of the following is neither a
Prokaryote nor an Eukaryote 1

(1) Saccharomyces

(2) E. Coli

(3) TMV.

(4) Nostoc

1n which condition both the arms of chromosorme
are same 7

(1) Acrocentric

(2) Telocentric

(3) Submetacentric

(4) Mﬁl.g.cﬂmﬂ:

Which is Suicide Bag ?
(1) Mesosome

(2) Ribosome

{(3) Lysosome

{4) Centrosome

Amongst the following compounds, the
compound having zero dipole moment is
(1) BF,

(2) NF,

(3) ClO,

@ HO

[PT.O.
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58.

59.

62,

-{ I- ] mmﬂug'lc

Considering their atomic numbers and ther
position in the periodic table, the correct arder
of increasing metallic character Is

(1) Na<Mg<Be<Si <P

{(2) Na< Gi<Be<Mg<P

(3) P<Si<Be<Mg<Na

(4) SlﬁﬁecMng-:Na

The chief constituent of phatochemical smog 15
(1) PAN (2) Both (1) and (4)
(3) Noneof these  (4) NO, gas

Methaemoglobinaemia disease is caused by
{15 High cancentration of nitrites drinking
waler

High concentration of CH, (methane) in
drinking water

High concentration of fluorides in drinking
water

High concentration of nitrates in drinking
water

(2)
(3)
(4)

Which of the following reactions will need
maximum amount of energy ?

(1) Ca*—Ca™ +le

(2) Kt =2 K" +le

(3) C*=>C*+ le

(4) Na— Na'+ le

-
ere is & hole in a copper disc, if the disc is
ecited, the size of the hole
1) Decreases
(2) Remains the same
(3) First increases, then decreases
(4) Increases

One nanometre is equivalent 1o
(y 10%cm

(2} 107 mm
(3) 107 em (4) 10° mm
Which device converts th
. :
i oy rmal energy into

(2) Voltmeter o

(3) Photocell (4
) Hydrometer '
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68. ‘sv e #) aufeufy wrew fafive wam A ®

(1) T (2) =drkiEEde =
(3) WEEEaE  (4) W
jitiadea,

69, =l siferat
5L 71 &l aEy

(1) =iy
(3) Equ

70, =news dzl
(n ez
(3) W

71w wn ow fifven 70 R v s g0, v, @ d
e fedm w5 71, v, = @ wa e § | wepd
amn & fird v, wen v, w0 e =@ (v) BT

L T W10 % Sl

(2) Tt s
(3) TOATE H
(4) WHEETAT TN
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64. Which of the following is
force 7
(1) Gravitational force
{2y Viscous force
(1) Inter-atomic foree
(4) Electrostatic force

69,

71.

nnn-«::unz-trvmivt

Roaring of lion has

(1) high intensity and low pitch

(2) both high intensity and high pitch
(3) both low intensity and low pitch
(4) low intensity snd high pitch

According to animal classification, which of the
following group of animals is correct 7

(1) Euplectella, Spongilla, Sycon
(2) Oetopus, Starfish, Jellyfish
(3) Hirudinaria, Unio, Antedon
{(4) Nereis, Earthworm, Starfish

Amoeba is a

(1) unicellular plant (2) unicellular protist
(3) bacterium (4) unicellular animal

Presence of ‘Canal System’ is the
characteristic feature of phylum

(1) Coelenterata (2) Platehelminthes
(3) Echinodermata (4) Porifera

Long bones with air cavities and lungs with air
sacs are the features of class

1) Repiilia (2) Aves

3) Mammalia (4) Amphibia

Beneficial insect is
(1) Aphid (2) Apis
(3) Culex (4) Gandhi bug

A car covers the first half of a certain distance
with a speed v, and the second half with a speed
v, The average speed (v) of v, and v, during
the whole journey will be

(1) Half of harmonic mean

(2) Geometric mean

(3} Harmonic mean

(4) Arithmetic mean

LRT.O



7. “ﬁ:-mmtﬁmmﬂﬁmﬂaﬂ'mﬁﬂrk
wrg w7
s o
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73, P i fe i wefe e 78 £
(1) =i
w2y TFiart
(3) wifem
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74, ufeir-ae w8
(1) w
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(4) Faga wT
75. m&zmmhﬂgmmhmtﬁ
(we! E 7o B #9; g T S 5
weftia = )
(1) ¥== B (2) Ewer B
3‘]5 (3) AMEMANB (4) FaE
76, weETguEy (ELISA) 1w firgr 8
(1) fawamm
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(1) l
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(3) i vew

(4) S Fw |

79, Taw
wwAfirm

(3) werfm
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i

73

74,

TS,

76.

At which femperature Celsius and ey

measurement i equal 7
(1) Elig
(3 Lo

["."ri _dﬂ"
(4) o°

Which of the follawing is used in refrigeration 7
(1) Chiorine

{2} Freon

{3) Phosphine

(4) Sulfur dioxide

Ampere-hour is an unit of

(1) Power

(2) Strength ofelectric current
{3) Energy

{4) Quantity of electricity

The field around direct current carrying
conductor is/are (where E and B are respectively
represent electric field and magnetic field)

(1} Only B {2) BothEand B

(3) NeitherEnorB (4) Only E

Waorking principle of ELISA is
(1) Amplification process

(2 Mngniﬁfnliun process

{3) Antigen-antibody interaction
(4) Phagocylic process

Code of Bt toxin gene is

(1) lac (2) wp
{(3) alu (4) ery

In'which of the followin
e B process oxygen is nol

(1) Glycolysis

(2} Electron lrnnxpnn system
(3) Aerohic respiration

['1] Phﬂlﬂirn;hﬂm

Mycorrhiza ig ex ample of
(1) Amensalism

(2)  Antibiosi
(3) Mutualism (4) F:ngilsut::s
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80, &mﬂiﬁmﬁﬁﬂ#mﬁrﬂmt?

81, ﬂ'ﬂﬁﬂﬁﬁﬂﬂﬂﬂ-mwﬂ‘iﬂqﬂ*ﬁ{hqﬂg!ighm
(2) e oim
(3) T @ =
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e
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80,

82.

Which one of the following is responsible for

denitrification 7
(1) Pseudomonas and Thiobacillus

(2) Anabaena and Nostoc
(3) Rhizobium and Nostoc
(4) Rhizobium and Azatobacter

Which one of the following mirrors is being
used in headlights of vehicles 7

(1) concave mirror

(2) plane mirror

(1) none of these

(4) convex murror

The resistivity of a material is found to decrease
with an increase in temperature. The material is
(1) Silicon (2) Nichrome

(3) Silver (4) Constantan

Which one of the following graph represents
acceleration (a) vs Time (1) of an object moving
under free fall ?

a
(1t
L—=
il
) T/-
I —s
i
@ 1
R
i
4 1t
L—»

[PT.O.



KB {Kilobyte) s equal 10
(1) 1000 bytes
() Iﬂ’IfIthclﬁ
3y 1010 bytes
(4 1024 hytes

wWhich of the following has the highest
[requency 7

(1) Ultra- .yiolet light

(2) X-rays

(3) Infra-red rays

(4) Visible light -

. “Belladona” medicine is obtained from which

part of Arropa Belladona 7

(1) from root

(2) from leaves and root

(3) from all the parts of plants
(4) from stem

. Jute is obtained by

(1) Pinus

(2) Datura

(3) Corchorus Capsularis
(4) Solanum

_ Cotton is obtained from

(1) Rauwolfia
(3) Oryza sativa
(4) Gossypium

In compositae family the flower is
(1) Epigynous

(2) Perigynous

(4) -



91, wrt wresra wra ur wen B
(1) wignaushs p

(2) v algad w
(3) w8 ) e

I3 e 8wl &
92, wwrl) ad ik Fresy 7 9 W v i e ofpn ol e
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wrefia
@ qwjm

(3
(4) wET

03, IgE, T, T o win e w4 7

._,(..I—)-"!fﬁ. (2) wfew
(3) Iofed Eﬁlﬁﬁ'

94, fi=d @ f-w e, wga d o W g
wee & forg farsem @ 7

W!{
(2) faaf=C
(3) fofmaA
(4) f=f=E

T ) aqrem et oft P g i €

(1) W& sEge
27 T

(3) mﬂw
(4) THHITEE STH

96, e ad-dn m}ﬁm{u@?

e (4) ﬂrﬁm
97, frafufim A W -3 37 Tz

gfewm @ 7 >

frs-ury Uz
) - A m L
(3) W - % 1w firm - i
(4) e -mmmv
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91.

92

93,

Four chambered heart is found in
(1) Reptile and bird

(2) Amphibian and reptile

(3) Mammal from fishes

{(4) Bird and mammal

Which of the following order of the class
mammalin is completely aguatic 7

(1) Cetacen

(2) Rodentia

{3) Ungulata

{4) Carnivora

Nails, claws, hoofs and horns are developed
from

(1) Dermis
(3) Cartilage

{Z) Bone
(4) Epldermis

Which of the following Vitamins is mainly
responsible for blood coagulation in human
being 7

(1) Vitamin K

(2) Vitamin C

(3) Vitamin A

(4) Vitamin E

The animals with digging or burrowing habits
shows the following type of adaptations

(1) Cursorial adaptation

(2) Fossorial adaptation

(3) Volant adaptation

(4) Scansorial adaptation

Which of the following is mot the ore of Iron 7
(1) limonite (2) hematite
(3) petalite (4) magnetite |

Which one of the following alloy is nat properly
matched with regard to its composition ?

Alloy Composition
(1) Gunmetal - Copper, Tin and Zinc
(2) Nichrome - Nickel, Iron and Chromium
(3) Solder - Lead and Zine
(4) Brass - Copper and Zine

[P.T.O.



%nﬂnm-mmﬁﬂﬂ‘ﬁj‘

B i varrdh et e (TS
K M
CH,
!
(1) CHy -*{I_T-—UH
CH,
G, CH,CH CHON

(3) CH,~-CH-CH; - CH;
I
OH

(4) fafzs w3

ﬂﬁﬂm#&!ﬂﬁﬁﬂ!tﬁﬂ!ﬁﬂﬁﬂ
sfsfFmite &1 @ &4 5

{1) RF>RBr>RCI>RI

(2) RCl>RBr>RF=>RI

{3) RI>RBr>RCl>RF

M}Rﬂbﬂﬂr:m

101. N, O, p# § & frga-womos % o fe #m
Faga '
(1) S<P<N<O
(3) P<N<O<S§

102. 35y e i o
(1) Frpen { avfeem sigm T vfes
- Fovit & et v e § |

¥ 'mtmmqwmmﬁ

)
: 2R s (TEL) s s o

: ﬁtmmﬁ AT T T

98.

100.

101.

ing compound EIVES the

oW .
which of the foll o during dehydration

L
mond stable carbonium §

reaction 7
CH;

CHy = €~ OH
CH,

i1

(3) CH,CHCHCHOH

(3) CHy-CH-CH; =CH,

OH
(4) CH,-CH - CH,OH
|
CH,
The acid found in tamarind is N
(1) AscorbicAcid  (2) Tanaric Acid
(3) Acetic Acid (4) Citric Acyd

| The order of reactivities of the following

alkylhalides for S, 2 reaction is
(1) RF>REBr>RCI>RI
(2) RCl> RBr>RF > RI
(3) RI>RBr>RCI>RF
(4) RF>RCl>RBr>RI

The electronegativity of N, O, Pand S increases
in the order '

(1) S<P<N<O (2) P<S<N<O
(3) P€N<O<S (4) N<O<P<5§

Point out the incorrect statement.

(1) Ozone layer in atmosphere protects us from
harmful UV radiations.

(2) The incessant use of insecticides has caused
soil pollution.

(3) Lct;n Ethyl Lead (TEL) is added to gasoline

t the gases coming out of vehicles
2, ;ﬂg-m cause air-pollution.
© Eases responsib id rai

mainly SO, tiidﬂo_rh for acid rain are
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w7

Li.Mg, Be, C

(1) Mg<Be<Li<(
WAl C<Mg<Li<Be

(3) Be<lLi<Mgp<C
(4) Li -Civ_fg -t:_r‘.lc <C

105, e sl | gm0

COOH
Hr, i
% x
FeBr,
CH, 0
O0H C-Br
(1) (2)
Br
CH, CH,
COOH
(3) (4) Br
CH,—Br CH,

106, T 3 1 1 I T w8

(el
(3

(4) e
107, 707 1 vaoe g Fafem R

53

104,

105.

106,

107.

108.

109,

What is the cormect order of increasing
electronegativity for the following elements 7
Li,Mg. Be, C

(1) Mp<Be<Li<C

{2) C<Mg<Li<Be

(3) Be<Li<Mg<C

(4) Li«Mg<Be<C

The product "X' in the lollowing reaction
COOH

CH, CH,
OOH COOH
(3) ) @’ X
CH,-Br CH,

The rearing of silk worm is known as
{1) Agquaculture (2) Apiculture
(3) Senculture (4} Horticulture

Respiratory centre of the body is present in
the

{1y Cerebellum of the brain

(2] Cerebral hemisphere of the brain

{3) Spinal cord

{4) Medulla of the brain

Loop of Henle is concerned with
(1) Excretion (2) Respiration
(3) Digestion (4) Reproduction

Which of the following is called 'Blood bank'
of human body 7
Spleen

(3) Kidney

(27 Bone marrow
(4) Hean

[BT.O.
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PR
HE e 6, 8 i i S 8
(1) 624 Y
() 576 (4) 864
13, fe R fors 3 s w5 it o W ABCD
o v 8, e AB + CD e 35w ¥ 7
D . s
5 Q
A
E
(3 2AD+ 4)
114, 5in8 - cosh = Ffwam s &
(1 2 @ 1
(3) ﬁ;-'—’- {4) 2
115, flw:mﬁuﬁﬁwmlmﬂ
4w she v ol wma, @ o wd )
2 2 v w A % ’ﬁa'ri!
(1) 18 (2) 15
3 12fa () 21,
Paper - 1/D

R v e 28 RO

I lﬂ.

111

112

113,

114,

115,

are thﬂ alternative h‘:'d'
Polyp and M:dﬂzﬂc animals of kingdom ?
forms present 1 ¢
(1) Coelentertts
(2) Annelida
(3) Anhropodt
(4) Poriferd
|
2= 9 = 6" then the value of ==+=4 "
1
1y 2 @ %
3
@ 1 $RE
. If the aver
{ of two numbers bed2 | ge
Lﬁﬁ:cnumbm is 6, then sum of the cube of
these numbers will be
(1) 624 (2) 430
(3) 576 (4) 864

iven figure a circle is circumscribed in
Iqr:m“:iﬂﬁiia:r.eral iuBCD then AB + CD will be
equal 1o :

(1) 2AD +BC
(3) 2(AD+BC)

{(2) AD+2BC
(4) AD+BC

The maximum value of sin® — cos# is

m V2 @ 1

@ il (4) 2

21 workers can construct any wall in 25 days
If 14 more workers are deployed, then in how
many days they will complete the whole wok ?
(1) 18 days (2) 15 days

() 12days (4) 21days .
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116 O x4 | x|~ 6= OF amafamEiwmam | 116, The sum of real roots of the equation

4|x|-6=0is

{1y o (2) -1 il
(1o (2) =1

(3) 5 (4) 4 (3 5 (4) 4

117. 9 2 sinx + 4 cosx + 3 W1 HEHH 1A B 117. Maximum value of the expression

2 sinx + 4 cosx + 3 15

(1) 2J5+3 @ 245-3
(1) 245+3 2 2J5=3

@ J5+3 @) 245 (3) J54+3 4 2J5

118. U g9 = S, e fem wwuex @ (g ot % | 118, The chord of a circle is equal to its radius. The

o FogEn ¥ fdf i B w iR angle subtended by this chord at any point of
the minor arc of the circle is

1) 1507 °
& 2) 45 (1) 150° (2) 75°
(3) 120° (4) 60° (3) 120° (4) 60°
119, T ¥F ﬁwa&ﬂé%mmmm 119. A cone and a hemisphere have equal bases and
sy & | ¥ A Fad i o e T ® equal volumes. The ratio of the height of cone
and radius of the sphere is
(1) 1:2 2) 4:1 (1 1:2 2) 4:1
3) 3:1 4) 2:1 3 J3:1 (4) 2:1
120, 120, LCM.of L 32 3
3169127
20 27
1y =— 2y —
(1) 3 @) .
10 1
2 1y =
©) 27 ) 27

121, ofE = wHET xF - px+54=:lﬁﬁ FOTCHE 121. If the negative roots of the quadratic equation

sziiﬂgﬁmﬁ'ﬂ,iﬁpﬂﬂﬁt n’—px+54=ﬂar¢inﬁmmﬁul:3.ﬂmﬂwvalua
of pis
b)) (2) -6 (1) -15 (2) 6
(3) -21 (4) 15 (3) -21 (4) 15
122. ﬂﬂwﬁﬁmﬁamhﬂmﬁmmaﬂt 122. 1 the arithmetic mean and geometric mean of
i AT AR, any two numbers a and b are equal, then
(1) a+b=vab  (2) a+b=ab (1) atb=Vab (&) a+b=abd
(3) a=b 4 Ja+b=vab (3) a=b () Jarb=+/ab

Paper — 1/D 55 [P.TC



" mf_-_ufthl‘t.'c points O, A angd B,
¢ coordin 2 S :
113, if th vely (0, 0), (0, 3) and (5, 0), they i

' " adius of the tria
% . 0, O respee and radius 0 ngle 04
123 mmﬁgam,,umﬂiiﬁ“‘:ﬁﬁﬂ circumeentr® B
. m._‘-i:mr.'r.rnn’l.a‘rﬁ'lj'-'ﬂf‘-“ are i
J34 S5
T ) [5-»."-2_3'4&] 2
=il 1
(2) {sJ’z’.JJ:].—*?— (s 3\ V3
= {3 [..i-.:_!' ¥ 1
(3) [2 }J _..'JE
; 22 ) 2 (4) (E*%),Jjﬁ
(4) (g g) S 4 |
ey 24, Ina simultaneous throw of Ewu cains, the
124, firh v e FoTer 9O 'h"‘ﬁm'z' 4 prubahilit!ﬂf““‘ getting a ‘head’ is
i mftwa ) :
4
| () + (%) 3
(1) % @ 3 4
A 4 3
G - (4 % @ 3 .

125. TR 0<n<!|®, aif=d # wH W T T-I'ﬂt? 125. Il<n< I, then which one of the I'nl]uwing -

o nol true ?
| |
(1) a¥>n'® (e (1) n®>n'" (2) —<—
niu “Inn : nlu nmﬂ
(3) n'™> 1 @) n'<li

The ratio of areas of the incircle and circumncircle
“of a square will be

(1) 1:42 @ 1:43
(3) 1:4 (4) 1:2
Consider the following table -

o | =10 11-200 21-301 3140 41-50 5160
= Marks | 1-10]11-20]21-30] 3140] 41-50] 51-60

@a | 21 4] 6| 3| 3| 2 |||Neorf
10 ® sifirs b Suden] 7 - : : 3 :
40 T 40 B T g any ' e
o 3 AT, A BT };ﬂmmcnmgcufﬂudcnuobminingm'h“
mﬂlzﬂsﬂ ke and less than 'or equal (o 40 marks is
(3) 74 (4) 15 res @ 6

56 (4) 15



128. lin"-%*mu ﬁqﬁfﬂkﬁmh?*|m
1 ‘ N
() eos' & A
-1 63 @“
{2) cot T
&) wn 3
16
i -|ﬂ
(4) sin T
129, T v e e s R e 129,
wiwt ) wEvmsm A E 7
(1) 4
(2) 5
(3) Fifrmad
(4 3 u
130. =wma 0.9, 09, (0.9 (0.9)" & was ag 130.
wEnk
(1) (09 (2) 09y
@) Jos (-0
B % P e we s Rt e a2 F2 =
WA EEE 7
(1 2
(3) I3
132, of2 2 w2 el i A

=% UF 26 ] AT wﬂnﬂmﬂﬁiﬁ

a1 70l 8 8, @ %% 79 H Fem wrh
(ny 7 (2) 5
(3 4 (4) 6

(1) nhafkwnﬂ-m

(2) nmmwmﬂ
(3) e wAr w s §
(4) nz0, i

Paper— 11D

aft 2" 4y, x4 y @ Fiifi o s 6, @

%t«

133,

ain! %+ cos”) % is equal to which of the

following ?

-lﬂ
16

-1 63
lﬁ

(1) cos

(1) cot”

.|ﬂ

{3} tan

4@

4 i
(4) sin T

To construct & quadriluteral at least how many
independent informations are required 7

(1) 4

{2) 5

(1) not definite

4) 3

The largest number amongst the numbers
J0.9,0.9, (0.9, (0.9) is

(1) (0.9 (2) (099
(3 J0.9 (4) 09

For how many real values of n the equation
a2 +2 = has a solution ?

(12 (2) 4

(3) zero “4) 1

If the difference of radius of two concentric
circles is 2 and the distance between their
centres when they touches each other exterally
is 8, then the radius of the bigger circle is

7 2) 3
(3) 4 (4) 6

i+ y‘n is divisible by x + ¥, then
(1) nis only odd integer

(2) nisonly positive odd integer

(3) n is only positive even integer
(4) n20, integer

| PTO



f the gquation

| g Number of real solutions ©
- .--—-r--'I =J--—i-lr-' will be
m ‘—._1_—‘3_._:____* v Iru : -.?
) " % : (2) 2
Mﬁmm n 1 7 -
n 2 o ;

i1
rwo factors of the

5 i nid y — 2 are
fx-yandy '
138 Iﬂt-ﬂ-ﬁtr—l‘tm,-_:la.ﬂyd-hrlﬂ*r‘ 135 :::pﬂ:ﬂi'““ “‘3*’!"'}4!’+Hr.lhcn
¥ w
iﬂqﬂmﬁ‘ “ 3

1.]:' ='_"'4.-1F=4

oft we T @ PA, PB o it wmi T # ol If in the adjacent figure PA, PB are tangents of
ZAPB=30°§, & ZAQB ™ 5H B the circle and ZAPB=230°, then the value of
P - ZAQB will be
2) 150° () Tﬂi;'
() 75° g: e
{4) 30° (@) 31]"
137, o ) o e €, 4 8 et e
8 137. Inasi - : =
% wifewm % W, 71 4 % S e 3w e R bl e B K el
- f i R
o 0 e o o anﬂmsmmmw.'i.mpmhhmrynr
getting 4 or less than 4 will be
m 3 @ 1 Aa
6 Y3 v
2 (4 1 - e
3
Pages ~ 1) ) Wi @ 1

58




Bz _

a1 a@t sk
138, iﬁgﬂiﬂtm #mﬂ“‘ﬁ‘iﬁ 138, Thcnmnnl’largcallria.ng[::hnl:a.nbcimcﬁbnd

1y 18 _ A in o semi-circle of radius 3 cm is
:33 3w til i,-?r DR () 1sem (2) 27 cm’
-~ e ' %9 (3) 3em’ (4) 9em’
aft | 2, ™
139, J_L 139. If | < x <2, then what is the value of
x+2Vx=1+yx=2Jx -1 w7
Vit 24dx =1 +4x=24Jx =1 ?
(1) 2vx-1
J_ 3 (1) ZWx-1
() 2+2Vx -1 2
Vi 2) 2+2Jx =1
(3) Jx-1
(3) Jx-1
@2 @) 2
140. FE 23.43 HE‘W% (p. g ortw §, q = 0) 140. The number 23.43 in the form % {p, q are
s S integers, q #0) is
999 y 24
(2) 2320 42
99 (e
2320 2
(3) e 2320
qy Szl
100 (3) 100
(4) 2343 @ B4
100 100
141. UF safE 94 AHAER A person prints the price of his article to 30% more
A T & AW % than its cost price and gives 30% discount 1o its
a1 e e g printed price. His profit/loss percentage is
(1) =m99% _ (1) Profit 9%
w1 9% : (2) Loss9%
(3) *vd wm /i e (3) No any profit/loss
(4) w1 6% (4) Loss 6%
142, fisfra = 142, The algebraic expression
[x—a][x-b}(:r.—t:}...(x-y){x-rz}ﬂlﬂﬁ'rﬂ!'ﬂ (x—a) (x=b) (x=c)...(x-¥) (x—2) will have
the degree
(1) smfonfra E
(1) undefined
(2) 1 @) 1
(3) 0(7=) (3) 0 (zero)
(4) 26 (4) 26
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141 Iﬂu.ﬁmﬂﬂ“t‘-p: #
P-_,zﬂﬂmt’—ql pre
!
W T B
W da-per-9

) %{q- 2p) (2= P)
(L)) %{Zp—q!tm -p)

@ %w-quzq-p*m
144, A*H'—"-‘Flimi Jsmﬁﬂ+smﬂ=ﬁﬂﬂt?

() 3 (2y O
&) ::1 @ -3
145, WTATR gt & AT

Iﬂi'ﬂ 3

miﬂ T

ﬂ'iﬂ . 13

spa s 16

ﬂiﬂ 21

FEE=] a7

Fmt‘::ﬁ“ﬂﬁm*&ﬂiﬁm
WA p s0-50d g, MpgH

I

( 5(?341']%'
(2) 42%dy

(3) v @ wif 3l

(4) 21(88-2143) Bl
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mlinﬂl’*lﬁ”"'“

roots of the et .
Hn: ﬁ“u:l:hc he roots of the pruation
a i B

ifl be
5 -:: + = 0, then the value of ¢ will

(1 %tq*NﬂP“"
(2) %{q-lp]ilﬂ—ﬂ
3y %lip-qlﬁq'ﬂ

4) %tp-quma o)
of A Jacos® + sinB=Ais

For what values

true 7

(y 3 (2 0

@ = (@ -3

Marks obtained Number of students

Less than 10 3

than 20 7

Less than 30 13
55 than 40 16

Less than 50 z1

Less than 60 27

On the Bi_x_i_a:h‘-_[ above table if the frequency of
..cmmafﬂzn—zuis pandufdﬂ—ﬁﬂisq,

then the difference of p and g i
(150 2 5

vﬂmnﬂwamnf shadowed part in the figure,
if radius of circle is 42 ¢m and ZAOB=120°

and O s the center of circle ? [,, . 2]
. 7

1
iy '1"[73--’5) cm?
(2) 42cem’

() 21(88-2143) env
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148.

149,

pﬁmqmm’"mﬁ“ﬂrﬂnﬂn’—h—q.
(x = 179 (x + 1) 3 pfay; Ponfim a8

(11 Pﬂl,q“_-:

(2) p=3l.q=4

3 p=-Lg=1

4 p=2.9=1

aft #id wfers st wdafegt ) gen 100 0%
W:mmtmaﬁ&aﬁaﬁ s 12%
e # o e B, o s A e g s
faern gm 7 =

(1) 61:57

2) 77:84

(3) 50:45

(4) 55:54

R (a+bi:b+e):(c+u)=6:7:830
a+btc=14% 7 ;b c w0 AE R A 7
(1) 7:5:9

2) 12:14:1%

(3) 6:7:8

4) 3:7:4

£AOB= 60°

d

T R gn = H=2 0 o

a1 £ AEB =1 °W B I

(1) 75%

@ 150°
3)) 105.5°
(4] 105°
/

Pefer — 1/D

147.

1484,

149.

150,

What will be the values of p and g. when
i 4 27 = 2x = g in exactly divinible by
(x— 1)and (x+ 1) 7

(1) p=lg=2
(2) p=3.q=4
h p==l,q=1

(4 p=2.q=1

The employer decreases the number of his
employees in the ratio 10 : 9 and increases their
wages in the ratio 11 : 12, then what is the ratio
of his two expenditure 7

(1) 61:57

{2) 77:84

{(3) 30:45

(4) 55:54

ii‘-[n-t-h}:{tr+t:|*.{c+a}=ﬁ:1-ﬂand
4+ b+ c= 14, then what will be the value of
pehc?

(1) T:5:9

(@) 12014116

(3) 6:7:8

(4) 3:7:4

In the given figure O is the centre of the circle
and ZAOB= 60°, then value of ZAEB will be

(1 75°

(2) 150°
(3) 1055°
{4) 108°



